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Express the following measurements in scientific
notation ‘
1. a 5800 m
58 X10°m
. 450 000 m
45X 10 m
. -302 000 000 m
3.02 X 108! m
86 000 000 000 m
8.6 X 101 m
2 .‘a. 0.000 508 kg
5,08 X 10* kg
b. 0.000 000 45 kg
4.5 X 107 kg
c. 6.003600 kg
3.600 X 10 kg
d. 0.004 kg
4% 10° kg
3. a 300 000 000 s
I X108 s
b. 186 000 s
1.86 X 105 5

c. 93 000 000 s

93 X 10" s

Practicé Problems
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4, Convert each of the following
measurements to its equivalent in meters.

length

a Llcm
(11X 10-2m) _ )
(i.1 cn‘l)——----w-—(1 cm) =11 X102 m
b. 762 pm
(1X10-12m) _
(76.2 pm)-—-—----~—~-——-——(1 TR 762 X 1012 m
=762X 101 m
c. 2.1 km
(1X 103 m) _
@1 m) =™ = 21 X 10° m
d. 0.123 Mm
- AX105m) e o s
=123 X I m

5. Convert each of these mass measurements to its
equivalent in kilograms,
?

a 147¢g
1kg=1X 10% so 147g [l—i%g—]
= 147 X 103 kg
= 147 X 10! kg
b. 11 pg
lug=1 X 10% and 1 kg

nm

1 X 10% so

T X 105 1kg
11"‘*?[ Tig ][1x103g]

11 X 105 X 10 kg
1.1 X 10 kg

i
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723x 103kg

d 478 x mg |

1% 10%) [ 1kg
‘-‘?78-_",“3[ 1 mg ][1)(1033]
-_-f..478x104kg

page 18

-J'ﬁ Solve the following problems. Express your
f__answers in scientlflc notation.

6. a. 5% 10"’ kg + 3 X 107 kg
. | 8 X 107 kg
. 4X 105 kg +3 X109 kg
X107 kg
. 1,66 X 107 kg + 2.30 X 10° kg
3.9 X 109 kg
72 X 102 kg - 2.6 X 107 kg
46 x 10 kg
6 X 108 m? - 4)(10‘*‘m2
2 X 10 m? |
. 38 X 1042 m2 — 1.90 X 10 m?
152 X 107 m?
. 58 X 10° m? - 2.8 X 10°® m?
3.0 X 10° m?
d. 226 X 108 m? — 1,80 X 108 m?
046 X 10% m? = 4.6 X 104° m?
. a 5.0X1047mg+4$<10"3mg
50 % 107 mg + 4 X 10% mg

o —50x10"7mg+04x10*7mg
-54x10""mg

A Mathematical Toolkgt

. 60 X 10° mg +2 X 1t _'fn'g”_ ;

.60x10*3mg+2><10"mg
——60X10‘3mg+02x10-3mg .
=62 X 10° mg

c. 3.0x10-2pg—2x10'5ng

.0 X 102 pg - 2 X 10 ng
3.0 X 102 X 101%g — 2 X 10¢ X
3.0 X 10#g - 0.2 X 10g
2.8 X 104g

o H w.

d 82km-3X10m

82km -3 X1 m
=82X1Pm-03Xx10m
=79 X 1P m '

page 19

Find the value of each of the following qu
9, a (2 X 10¢ m)4 x 10® m)

(2 X 10* my@4 X 10° m) = 8 X 10%
= 8 X 102 m?

b. (3 X 10* m)}2 X 106 m)

(3 X 10* m)2 X 10%m) = 6 X 10%
= 6 X 1010 m?

¢. (6% 104 m)(5 X 10 m)
(6 X 10 m)(5 X 10® m)
=30 X 10+ m?
=3 X 101 m?

d. (250 X 107 m)(2.50 X 10' m)
(2.50 X 107 m)(2.50 X 10¢ m)
= 6§.25 X 106
= 625 X 10°V.m2

6 X 108 kg

10. 2 559m

6X 108 kg _ . " s
Tx om0 X 10 el

=3 X 104 kg/m?




£, = 3 x 105 kgm?
= 3 X’ 10" kg/m?

6% 10% m
2X10¥s

6X10* m

m=3X10“84mIS
=3 X107 m)s
o §X10%m |
T 2X10% s
6X10%m _ ‘
.W'_S*IO{"{")WS
=3X10‘4mf8
IL a 3x 10 kg)(4x104m)

6 X1 s

(3 X 10* kg)(4 X 10* m)
6 X100 s

_ 12X 10%4kg - m
TT6X100s

=2x10%kg - mfs =2 X 10* kg * mjs

The evaluation may be.done in several other
ways. For example

(3 X 10 kg)(4 X 10* m)
6 X10F s

(0.5 X 10*4 kg/s)(4 X 10¢ m)
(0.5 kg/s)(@ X 10* m)
2% 104 kg - mfs

(2.5 X 106 kg)(6 % 10 m)
3X 107232

(2.5 X 105 kg)(6 X 10* m)
5 X 10-2s2

_-15 X 106+4 kg m
35X 10-352

=3 X 1012 kg + m/s?

=3 X 10" kg - m/s?

12, State the nomber of sxgmﬁcant dlglts in each

Practice Problems __

24

measurement
a 284m 4
b. 284m 3

. 00029 m 2

d. 0003068 m 4
€. 46X10°m 2
£ 406X 10°m 3

13. State the number of significant chg1ts for each
' measurement.

a 75m 2
b, 7500 mm 4
c. 0.007 060 kg 4
d 187 x 105ml 3
e. 1L.008 X 108  m 4
f. 120X ld4 m 3
page 25
14. Add 6.201 cm, 74 cm, 0.68 cm, and 12.0 cm.
26.3 cm (rounded from 26.281 cm)
15. Subtrac.t
a. 8.264 g from 10.8 g.
25¢g (rou.nded from 2.536 3]
b. 0.4168 m from 475 m.
475 m (rounded from 474.5832 m)

16. Perform the following multiplications.
a. 13 em X 2.3 cm

3.0 X 10° cm? (the result 301.3 cm® -
expressed to two -significant digits. Note .-
that the expression in the form 300 cm?
wounld not indicate how many of the d;glts_
are significant.) L
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b 32145km X423 km

© 13.6 km? (the result 13.597335 expressed to
three significant digits)

17.  Perform the following divisions,
ca 202 cm + 741 5

2.73 cm/fs (the result 2.726045...cm/s
" expressed to three significant digits)

b. 31416 cm + 124 5

0.253 cm/s (the result 0.253354...cm/s
. expressed to three significant digiis)

page 33
18, Solve the following equatiﬁn for b.
| y=m+ b

mi+b=y, b=y - mx

- 19, Solve the following equations for v.

a d=w
d
vt-—_d,v—}-
bo1=2
y
I=g,tv-—d,v—£
v t
v?
C. a—ia

ar.t

a ¢

v b ab
-—= = V=
a

-'-'-.-_'__-_3__Ch';.1pter: 2 AMathemaucalToolklt o

| Practice Problems

20. Solve each of these equations for E. &

2L

., E

a.f—;
%‘:f,EﬂfS

bm=2-§

Vv

2E my?
el =p? F = TV
>3 m, 2E = mv?, E )
E—

C.Fi"--m

E

Solve the equation v2 = v? + 2ad for !
V2 + 2ad = 2, 2ad=v2—v02,d=-(-‘.’i
Solve each of these equations for a.

A v=yv+a

v~y
at=v - vy a= 2




Identify the answers to these exercises using
consistent units,

a. Find the area of a rectangle 2 mm by 30
cm.

A = (0.2 cm)(30 cm) = 6 cm?

b. Find the perimeter of a rectangle 25 cm by
2.00 m.

P=025m+025m+200m+ 200 m
=450 m

24. Find which of the foliowmg equations are
incorrect.

a. area = (length)(width)(height)

incorrect; area has units m? and
(length)(width)(height) has units m?

. distance
b. time = ~speed
. distance
correct since __spee T has unitg we——e im /s)

c. distance = (speed)(time)?

incorrect since (speed)(time)? has units
Co(mfsYsP =m s

Chapter Review Problems
pages 37-39

1. Express the following numbers in scientific
notation.

a. 5060000000000000000000000111
5X10%m

b. 0.000 000 000 000 COO 00C 166 m
1.66 X 10° m

c. 2033 000 000 m

2.033 X 10° m

Chapter Review Problem

d. 0.000 000 103 O m .

1.030 X 107" m

Convert cach of the following measurements
into meters.

a. 423 cm

423 cm[l X 10-

Ztn
i Tom ] = 0423 m

b. 6.2 pm

-
6.2 pm[l X 10 m] - 62 X 102 m
1 1 pm

c. 21 km

21 km[lx 10?

m
1 lkm]-z.lxlo‘fm

d. 0.023 mm

0.023 mm[lx 10‘3m] =23 % 105 m
1 1 mm .

e. 214 um

-6
214 ”‘“[lx 10 “‘} =214 X 104 m
1 1 pm

f. 570 nm

-9

570 nm[lm] =570 X 107 m
: 1 nm T

Rank the following mass measurements from

smallest to largest: 11.6 mg, 1021 ug,

0.000 006 kg, 0.31 mg.

il mg[l X 10-2

24 . 2
i 1mg}-l.i)(lo-g

1021 pug|1X 108} _ 1 ;01 x 107 ¢
1 lug ' '
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000 006 kg | 10° g
— __[Ik] =6x 107
-031mg IX 107 g B

1{ T mg ]-_3,1X104g

031 mg, 1021 g, 0.000 006 kg, 11 mg
Add or subtract as indicated.
8. 580X 10° s + 320 X 10° s
. 580 X 10° s + 320 X 10° 5 = 6,12 X 10° s
. 487 X 104 m.~ 193 X 10 m

487X 10 m - 193 X 106 m
=294 X 105 m

. 3.14 X 104 kg + 936 X 105 kg

3.4 X 105kg + 9.36 X 107 kg
= 1250 X 105 kg = 1.250 X 10 kg

812 X 107 g ~ 620 X 106 g

812X 107 g - 620 X 10° g
=750 X 107 g

. State the number of sxgmﬁcant digits in each
- Teasurement.

a 248 m 3
b 003003 m 1
e 0lm 4
 ds000m s

b, State the number of significant digits in the
.- following measurements.

‘& 240 X 10°kg 3
b 6X100kg 1

€ 407 X 10%m 3

© Chaper 2~ A Mathematical Toolkit

Y A Many labels gzve metric eqmvalents of Engllsh
quantities. . Examples are: 12 fluid ounces
(934566 mL), 353 ft (107.59 m), 2.0 inches
(50,80 mm). Report each metric equivalent
using the correct number of significant digits.

9.4 X 10° mL, 108 m, 51 mm

8. Add or subtract as indicated and state the

answer with the correct number of significant
dipits.

a 162 m + 5008 m + 1348 m

162 m
5008 m

1348 m '
34688 m = 347 m

b. 5.006 m + 12,0077 m + 8.0084 m

‘5.006 m
12.0077 m

8.0084_m
250221 m = 25022 m

c. 7805 ecm? — 32.0M6 cm?
78.05 c¢m?
_32 !!ﬂﬁ sz
46.004 cm? = 46.00 cm?
d. 1507 kg ~ 120 kg
15.07 kg

=120 kg
307 kg = 3.1 kg

9. Multiply or divide as indicated watching

significant digits.

. (62 X 10* m)(4.7 X 10"° m)
2.9 X 10° m?

b (5.6 X 107 m) + (2.8 X 1042 §)
2.0 X 10° m/s

c. (8.1 x 104 km)(16 X 10 lcm)

13><10““icm2




0.

1.

12.

A (65X 10°kg) + (34 X 10° )

1.9 X 10* kg/m?
Tom did the following problems on his
calculator, reporting results shown. Give the

answer to each using the correct number of
significant digits,

a 532 mm + 2.1 mm = 74200000 mm

74 mm
b. 13.597 m X 3.65 m = 49.6290500 m?

49.6 m?
¢. 832 kg ~ 12.804 kg = 70.3960000 kg

704 kg
A rectangular floor has a length of 1572 m
and a width of 440 m. Calculate the area of
the floor to the best possible value using these
measurements.
69.2 m?

A yard is 33.21 m long and 17.6 m wide.

a. What length of fence mast be purchased to -

enclose the entire yard?

Perimeter = 20 + 2w

= 2(33.21 m) + 2(17.6 m)
= 6642 m + 352 m

= 101.6 m

'b. ‘What area must be covered if the yard is to

be fertilized?

Area= Lw = (33.21 m)(17.6 m)
= 584 m?

The length of a room is 1640 m, its width is
4.5 m, and its height is 3.26 m. What volume
does the room enclose?

= Lwh = (1640 m)(4.5 m)(3.26 m)
24 X102 m*

15.

16.

{. The sides of a quadrangular plot of land -

17.

132.68 m, 48.3 m, 132.736.m, and 4837
What is the perimeter of the plot as can best
be determined from these measurements? <

Perimeter ' '
= 132.68 m + 48.3 m + 132.736 m + 4837 m
=362.1m

A water tank has a mass of 3.64 kg when

empty and a mass of 51.8 kg when filled to a
certain level.  What is the mass of the water in -
the tank? ' AR

518 kg
=3.64 kg
48,16 kg = 48.2 kg

Figute 2-18 shows the mass of three substances .
for volumes between 0 and 60 cm?’, ;

a. What is the mass of 30 cm® of each
substance? o

(a) 80.g, (b) 260 g, (c) 400 g.

b. If yon had 100 g of each substance, what_ .
would their volumes be? . o

(@) 37 cm?, (b) 11 cm?, (¢} 7 cm?

¢. Describe the meaning of the steepness of t.hé _.
lines in this graph (a single word is not a
sufficient answerl), .

The steepness represents the increased mass..-'
of each additional cubic cennmeter of the :
substance, S

During an experiment, a student measured -the .
mass of 10.0 cm?® of alcohol. The student then -
measured the mass of 20.0 cm?® of alcohol, In -
" this way the data in Table 2-3 were collected.

Table 2-3

- {Volume (cm?)  Mass (g)
10.0 7.9
20.0 15.8
30.0 23.7
40.0 31.6 -
50.0 39.6
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" a Plot the values given in the table and draw

" the curve that best fits all points.

M
40 .a. )
_ 1
30 fri e
320
é _
- T10

o : : v
' 10 20 30 40 50
Volume {(cm?)

b. Describe the resulting curve.
A straight line

c. Use the graph to write an equation relating
the volume to the mass of the alcohol,

M = mV, where m is the slope

d. Find the units of the slope of the graph,
What is the name given to this quantity?

mass/volume; density

During a class demonstration, an instrucior

. placed a 1.0-kg mass on a horizontal table that

was nearly frictionless. The instructor then

Capplied various horizontal forces to the mass

and measured the rate at which the mass gained
speed (was accelerated) for each force applied.

- The results of the experiment are shown in

Table 2-4.
Table 2-4
Force (N) Acceleration (m/s?)
5.0 4.9
10.0 9.8
15.0 15.2
20.0 20.1
25.0 25.0
30,0 29.9

. Chapler2 A Mathematical Toolkis -
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a .Plot the values given in the table and draw
the curve that best fits all points.

f

£

o

LY

Acceleration (m/s?)
o WS h BhRe
Y

510 15202530F
Force (N)

b. Describe, in words, the relationship between
force and acceleration according to the
graph.

The acceleration varies directly with the
force

c. Write the equation relating the force and the
acceleration that results from the graph.

F =tka
d. Find the units of the slope of the graph.

. k= afF so the units of k are (m/s%)/MN
=mf + N

The teacher who performed the experiment in
the . previous problem then changed the
procedure. The mass was varied while the
force was kept constant, The acceleration of
each mass was then recorded, The results are
shown in Table 2-S,

Table 2-5
Mass (kg) Acceleration (m/s?)
1.0 12,0
2.0 59
3.0 4.1
4.0 3.0
50 2.5
6.0 2.0




a. Plot the values given in tlie table and draw
the curve that best fits all points,

— a

% 12 % oo

E10 ‘\

B 8 12 :

(=] = e H

g 6 ag_M """ -t

'g g . ?\\- .

< M
0 1234567

Mass (kg)

b. Describe the resulting curve,

Hyperbola
¢. According to the graph, what is the
relationship  between mass and  the

acceleration produced by & constant force?
Acceleration varies inverscly with the mass.

d. Write the equation relating acceleration to
mass given by the data in the graph.

a = ¢/M, ¢ = constant = 12

. e. Find the units of the constant in the
equation,

¢= Ma, so the units of ¢ are (kg)(m/s?)
= kg - m/s

Each cubic centimeter of gold has a mass of
19.3 g.. A cube of gold measures 4.23 cm on
each edge.
a. What is the volume of the cube?

- (423 em)® = 75.7 cm?
b. What is its mass?

M = (density)(V) = (19.3 g/em?)(75.7 cm?)

146 X 100 ¢

+Ghapter Review Problems

21.

“Chapter 2 . A Mathematical Toolkit

Solve the equation

i7" g 4
b. g

' LI Y L
from above—mu-g, SOZF--R.,

or gT?* = 4, or g = Tz

Each cubic centimeter of silver has a mass of
10.5 g.

4. What is the mass of 65.0 cm® of silver?

density of silver = D = 10.5 gfem?.

Since D = M/V,
M = DV = (10.5 g/em*){65.0 cm’)

b. When placed on a beam balance, the 65.0
cm? piece of silver has a mass of only
616 g What volume of the piece is
holtow?

actual volume of silver
=V = M/D = (616 g)/(10.5 g/cm?)
= 58,7cm?.

Hollow volume =
volume

= 65.0 cm® - 58.7 cm® = 6.3 cm?

given volume -~ actual -




: -'_;__of sugar cubes and lined them up side by side,
- how long would the lme be? 1 mole = 6.02 X
1023 umts

.-'-(6 02 % 1023)(1 cm) = 6.02 X 102 ¢m or

L (6.02 X 10% cm)/(100 cm/m)(1000 m/km)
2 = 6,02 X 10% km

{. The avérage distance between Earth and the sun
“olis 1.50 X 10® km.

" a. Calculate the avcrage speed, in km/h, of
- Earth assuming a circular path about the
sun. Use the equation v = i?—-

2w _ 2n(1.50 X 10% km)

.
Tt 365 dy [24 kJ

1d
= 1.08 X 10° km/h

. Convert your answer from km/h to m/s,
Show all units,

108X105km 1000 m l1h
_'h 1 km 3600 s

-'_=3.00X 10¢ m/s
TheradmsofEarthls637X103km

.a. Find the speed, in kmfh resulting from the
. rotation of Earth, of a person standmg on
the equator,

2&r _ 27(6.37 X 10° km)

‘v ————

t 24 h

= 1,67 X 10° km/h

. Convert your answer to m/s.
167X 10°km[ 1 h (1000 m
- h 3600s5| 1 km

= 464 mys

' Chapter 2. A Mathemaucal Toolki

1f you had a box cbntammg 1 mole

26. A child ‘rides a merry—go—round horse that is
54 m from the center. - The rides lasts 10
minutes. During this time the ride makes 24
revolutions.  Find the speed of the child in

meters/second. Use the equation v = 2-?—

) 10 mm min
= 24 rov = 042 —-e—- and
_ 2mr 27(5.4 m) _
Ve = 1047 min 60 s | ~ 14 m/s
1 1 min i

27. Manipulate the equation v = d/t and find the
answers to these problems using consistent wnits,

a. Find the distance a bike ftravels in 1.5
minutes, if it is traveling at a constant speed

of 20 km/hr,
d
V=?, ‘
©0dey = |[20km)[ 1 h](L5 min
" T R Jle0mim) | T
= 0.50 km

b. How long would it take a car to travel 6000
m if its speed is a constant 30 km/hr?

v=—s0vi=d, andt =

6000 m 1 km
- 1 1000 m
30 X0

| .

<A

020h

28. Water drips from a faucet into a flask at the
rate of two drops every 3 seconds. A cubic
centimeter (cm?) contains 20 drops.

What volume of water, in . cubic decuneters
(dm®), will be collected in 1 hour?

V = 2 drdps 1 cm? dm?
T 1 30s 20 drops] (1000 cm?

3600 s dm?
[‘W] =012 =~




. Tony's Pizza Shop '6rde;'e_d_ new 23 cm pizza

pans (9-inch pans). By mistake, 26 cm
{(10-inch) pans were delivered. Tony says that

. the difference is too small to worry about. = As
Tony's accountant, what would you say knowing
materials cost about 025 cents per squarc
centimeter? ' '

The area of each pan is given by A = m? or

2
1:[%] _ so the difference in area for the pans is

26cm2- 23 em|? _ N
1:[ 2] —[ 5 ]-lZOcm

(120 cm?)(0:25¢/cm?) = $0.30
Each pizza costs 30 cents more.

Supplemental Problems
1. Exprt?ss the following numbers in scientific
notation. .
a. 810000g B81XxX10Pg
b 0000634 g 634 % 104 g

c. 60000000g 6X107g
4. 00000010 g 10X 10¢g

2. Convert each of .the following time
measurements to its equivalent in seconds.

a. 58 ns 58x10%s

| b. 0.046 Gs 46 % 10" s
¢. 9270 ms 9.27 s
o 23k 1BX 10

3. - Solve the following 'lﬁrbﬁi_éz.ns. _ Express j?c_jqr'_.
answers in scientific notation. .~ - Lo

a 62X 104 m +57X10%
632X 10 m

-b. 8.7 X 18 km - 34 X 10’km'
.8.36 X 10% km

c. (9.211X 107 em)(1.83 X 10° cm)
1.69 X 10* cm?

d. (2,63 X 10¢ m) + (4.08 X 105 5)
645 X 102 mfs

4. State. the number of significant digits in the
following measurements.

a. 3218kg 4
b. 60.080 kg 3
c. 801kg 3
d. 0.000534 kg 3

s, Swte the mumber of significant digits in the
following measurements. E

a 560X 108 m 3°
b 3.0005 % 10¢%m 5
c. 80X 10®m 2

~d, 9204 xX10%m 4
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: 6 Add or subl:ract a8 mdlcated and state the 9. The following data table was established
.. .answer with the correct number of significant showing the total distances an object fell during
- ;{_1g1ts_ various lengths of time,

a 8526 g +47pg=90¢g . Time (s) Digtance (m)
" b, 107 km + 0,608 km = 1,68 km 1 5
' 2 20
c. 186.4 kg - 57.83 kg = 128.6 kg 3 44
: 4 78
d. 60.08s~-1225=479s S 123
7. Multiply or divide as indicated using mgmflcant a. Plot distance versus time from the values
digits correctly. : given in the table and draw a curve that
N best fits all points.
a. (5 % 108 m}{4.2 X 107 m)
2 X 10! m?
‘b. (167 X 102 km)8.5 X 106 km) 125+
1.4 X 107 km?
1001
e (26 X 100 kg) + (9.4 X 10° m?) li)
2.8 kg/m? MRES
a
d (63 X107 m)+ 3.8 %X 10?5 ‘c‘ %
. e
1.7 X 102 m/fs
(m)
8. A rectangular room is 8.7 m by 2.41 m. BT
a. What.iength of baseboard molding must be \
purchased to go around the perimeter of the T 2 3 4 5
floor? . . Time (s)
P=20+2w
28.7m) + 2241 m) = 222 m b. Describe the resulting curve,
b. What area must be covered if tiles are Parabola; curve starts at origin and is
. layed? concave upward
A=Lws= (8.7 m)(2.41 m) = 21 m? ' ¢. According to the . graph, what is the
relationship between distance and time for a
free—falling object?
The distance increases faster and faster with
time, '
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10. The total distance a lab cart travels during e. Write an equauon relatmg dlstance and tlme

specified lengths of time is given in the - for this data.
following table.
_ _ d = .30{)
Time (s) Distance {m) ‘
: _m?
1 0.32 11. Solve the equation F = -
2 0.60
3 0.95 R _ Fr
4 118 a. Form, m = =5
5 1.45
2
a. Plot distance versus time from the values b. Forr, r = '—F‘—
given in the table and draw the curve that
best fits ail points. EFr
¢. Forv, v* = —
M
/ Fr
™
b 1.50+ : " 12. Solve the equation:
i 1257
5 1_1 1
t 1007 ‘ TTa YT
2 75
n 27
c for d,
e 30T
+ 1 1 1
m) 25 N
T T SN
Time (s) d = 1 - i - d.f
‘ 1 1 d-f d,-f
T d d,f

b. Describe the resulting curve, 13. A Qube has an edge of length 5.2 cm.

Straight Line a. Find its surface area.

. f Ad N
¢. According to the graph, what type of Area of one side
relationship exists between the total distance

= §* = A 2 2
traveled by the lab cart and time? A=g=(52=2]cm

Linear Relationship Total surface Area

2 = 2
d. What is the slope of this graph? (27 em?)(6) = 160 cm

b. Find its volume.

V=¢=(52°= 140 cm?
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'Convert the velocxty to m/s. L

: '.'_'-mkm/lu 1000m/km he/3600 s = 19m/s

- 'The densxty of gold is 19. 3 glem?. A gold
“washer has an outside radius of 4.3 cm and an
+ inside radius of 2.1 cm. Its thickness is 0.14
-"'cm. What is the mass of the washer?

Volume_ of outside cylinder:

= 2R%h = 7(4.3)%0.14) = 8.1 cm®
: Volume of inside cylinder:

V= AR = A1) = 19 om?
. .'.’\_lclur_ne of washer:

81 om® - 19 om? = 6.2 om®

M =DV = (193 gem)(6.2 cm?) = 120 g
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